[ Efficiency vs vertpos |
~0.05

$.045
2
20.04
(&)
$.035

.................................................

.............................................

s F
30.035— -----------------------------------------
0.025F [ ieeemeeemsebinecd
0.02F |-
T S I RIS
0.01F |- i i e
0.005E- SO
3 :
o [ ]
1_—- R -<=-<:-=>=>E NP EUUUOTU0 U U U O S

o
©
a

[N}

107 1

=
o

10 0?
TP vertr (cr%)

[—=— DQM_TT__mKFI-DQM_original

—_— /dataz/leglann|/standa|6ne May24/CMSSW_13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_updated
—_— TT__mKkFit-DQM orlglnal newwindows

— DQM | TT_mkFit-DOM_update-mod127

Efficiend

~ 05
So.45
2 04
Co 35
0.3
0.25
0.2
0.15
0.1
0.05
1.0

..............................................

efficiel

.......................................

.....................................

Ratio

[y

0-95; 10 20 30

TP vert z (cm)

0

[ Efficiency vs. sim PV z |
~n 0.2

>

80.18
£
50.16
20.14

cO 12

efficienc

0.08
0.06)

0.04F

0.1F

.......................................

.......................................

.......................................

o

LO

15 20

Sim. PV z (cm)



	Contents
	Page 1


